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PAPER-I

jy-1

This paper contains Sixty (60) multiplechoice questions of two marks each.
You are required to answer any fifty (50) questions out of them. If you attempt
more than 50 questions, the first 80 questions you have attempted will be
evaluated. There is no negative marking for wrong answers.

2L WAL SO (A1) olg[asedl Radl 2l &, UAS Ust A ARl V. el
a1l 4o (VAR UsrL Gl sl 8. Wig A dil WO sl a Wsdiv
Gl VUYL ll el YSEL MO Ml % MRl duddl. viel g He Adilea

ARist uyL -l

The purpose of evaluation is :
(A) Observation

(B) Decision-making

(C) Revision

(D) Review

What is the most essential factor for
success of students learning ?

(A) Readiness of learner
(B) Teacher’s teaching
(C) Difficulty of content
(D) Classroom interaction

The student who keeps on asking
questions in the class :

(A) Should be advised to meet
teacher personally

(B) Should be encouraged to

participate in classroom

discussion

(C) Should be encouraged for seif
learning

(D) Should be encouraged for
continue questioning
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Heuristic is a method in which :
(A) The teacher leads an inquiry
(B) ICT plays an import_ant' role

(C) The students strive to find out

the solution

(D) Teaching ‘of values is

emphasised
Effective learning means :

{A) Modification in behaviour of

learner

(B) Consistency in behaviour of

learner

(C) To recall information by the

learner

(D) Good performance of learner

in examination

Which is the most appropriate

maxim for deductive method ?
(A) Specific to General

(B) General to Specific

(C) Analytical to Integrative

(D) Known to Unknown
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If the purpose of the researchis for 7.

theory building, then it is a :
(A} Action Research

(B) Historical Research

(C) Fundamental Research
(D) Applied Research.

The list of titles-books, research
reports, articles, papers etc., that
may or may not have been referred
to in the text of the research report

is known as :
(A) References
(B) Footnotes
(C) Bibliography
(D) Appendices

Identify the unethical practice of a

researcher from the following :
(A) Avoiding Plagiarism

(B) Avoiding Duplication

(C) Avoiding Reliable Information

(D) Avoiding Manipulation
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10.

11.

12,

Snowball sampling technique is a :
(A) Probability sampling technique

(B) Non-probability sampling
technique

(C) Both Probability and Non-
probability sampling technique

(D) Not a sampling technique

In order to understand the

classroom  teaching-learning

process, which of the following

research tool is most appropriate ?
(A) Rating Scale

(B) Questionnaire

(C) Observation Schedule

() Interview Schedule

A hypothesis that states zero
difference or no difference between
the parameter and its assumed

value is known as :
(A) Simple hypothesis
(B) Directional hypothesis

(C) Non-directional hypothesis

(D} Null hypothesis
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Read the paragraph and answer the
question Nos. 13-18 :

Far from being a stern and severe
intellectual remote from the world,
Dr. Radhakrishnan was a very
humane person. Exceedingly
popular among his students right
from his early days as a professor
at Presidency College, Madras he
was an evocative teacher. He was
offered the professorship in Calcutta
University when he was less than
30 years old. He served as Vice-
Chancellor of Andhra University
from 1931-1936. In 1939 he was
appointed the Vice-Chancellor of
Banaras Hindu University. Two
year later he took over the Sir Sayaji
Rao chair of Indian culture and

civilization in Banaras.

His mastery on his subject and his
clearity of thought and expression
made him even much sought after
teacher. But what made him even

more popular was his
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13.

14.

warmhearteness and his ability to
draw out people. This aspect of his
personality continued to win him
countless admires throughout his

long and illustrious life.

In the last decades of British rule
he was the most sophisticated and
exalted analysis of Gandhi’s work
and thought and in free India he
provided the ideological armour for

Nehru’s foreign policy.

Find synonym of ‘Armour’ : 13.

(A) Shield
(B) Weapon
(C) Dress

(D) Stick

His role during last decades of 14.

British rule was :

and exalted

(A) Analysed
Gandhiji's work

(B) Helped Nehruji
(C) Encouraged students

(D) Did meeting with educationalists
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15. Antonym of Humane is :
(A) Reasonable
(B) Kind
(C) Rational
(D) Brutal

16. Which quality of Radhakrishnan
made him more popular in public

life ?

(A) Extraordinary Talent
(B) Personality

(C) Warmheartedness
(D) Intelligence

17. From which college he started his

career ?

{A) Calcutta University

(B) Banaras Hindu University
(C) Presidency College, Madras

(D) Delhi University
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18. In which year he was appointed as 18 air12y R-g RzafQauaudi su? S1d

Vice-Chancellor in Banaras Hindu N Co
cror i Ban Gugaul ueell ouR eyl :

University ?

(4) 1931
(4) 1931
(B) 1936 (B) 1936
(©) 1939 (€) 1939
D) 1942 D) 1942

19. ‘Extemporaneous method’ is a 19 g ygR A w w2 auzudl weR ©7

method of ; -

(A) 149
{A) Listening

(B) alax
(B) Reading
(D) Writing D) auvid

20. The basic purpose of communication 90, Yy u-rl Yoy &g ul 87

is :
: (A) adld s
(A) to Confirm '

(B) wlddduz s3g
(B) to Inform

(©) to Reform (© wag

(D) to Form ' (D) 434 24
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21.

22.

23.

The competency of an effective
communicator can be judged on the

basis of :

(A) Personality of Communicator

(B) Interactivity with the target

audience

(C) Experience in the field

(D) Meeting the needs of target

audience

The person who transmits the

message is called the :

(A) Sender
(B) Receiver
(C) Barrier
(D) Decoder

Which of the following is required

as a skill while reading ?
(A) Ability to comprehend
(B) Reason for reading
(C) Time for reading

(D) Help in reading

Paper-I—A
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24, When reading the text only for

25.

relevant and required information

is called :

(A) Skimming
(B) Scanning
(C) Reading
(D) Reviewing

One number in the following
number series is wrong. Find out the

wrong number :
196, 169, 144, 121, 101
(A) 121
(B) 169
(C) 196

(D) 101

Paper-1—A
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26.

27.

28.

The following series contains
various terms of an alphabet
gseries with one or more terms
missing as shown by ? Choose, the
missing terms out of the given

alternatives :
T, R,P,N,L, 27?7
A J4,G
B) J, H
) K, H
D) K, 1

Find out the next term in the coded

series :

Z1A,X2D, V6G, T21J, R88M, P445P
(A) N26765

(B) N2676T

(C) T2670N

(D) T2676N

Pointing towards a person, a man
said to a woman, “his mother is the

only daughter of your father.” How

'is woman related to that person ?

(A) Daughter
(B) Sister
(C) Mother
(D) Wife

Paper-1—A
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29.

30.

31

Choose the word which is least like

the other words in the group :
(A) Flute
(B) Gitar
(C) Sitar
(D) Violin

If GOLD is coded as HOME, COME
is coded as DONE and CORD is
coded as DOSE, how would you code
SONS ?

(A) TPOT
(B) TOOT
(C) TOOS
(D) TONT

Konkani is related to Gba in the

same way, Dogri is related to 3
(A) Himachal Pradesh

(B) Sikkim

(C) Assam

(D) West Bengal

Paper-1—A
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32. In th stion below is gi 3
e questi oW S BVER R g9 12 wude wari Qs A A yduzeu

statement followed by two
assumptions numbered I and IIL WG § 1 2, II, s 20l

Give the answer : _
(A) A ydawzeun I =l &

(A) if only assumption I is correct
(B) if only assumption II is correct (B) & ydawzvan IT ull 8

(C) if either I or 1I assumption is (©) A ydarRen T = T 53 e .

correct

(D) if neither I nor II assumption D) A T a7 01 eirl Wiz ©.

is correct
[Qal+ :

Staifement :

Use of cell phones is not allowed | AeBleA Aastil w2 e 8.

inside auditorium.
ydaiza—TI :
Assumption I :

All those who have cell phone will Fu-ll WA ddsit 9. w0 AU

switch it off before they take their Aua-ll Wi si- old 53

seats in the auditorium.

Assumption II : ydaau-—Ir :

Generally people do not bring cell Al Ad sidsHHl snanl dislt
phones when they come to attend

C . o dounsdl Adsi cadl el eid.
functions in the auditorium.
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33. Should there be a complete ban on

Indian professionals seeking jobs
elsewhere after getting their

education in India ?

Arguments :

I : Yes — this is the only way
to sustain the present rate of
technological development in

India.

II : No — the Indians settled abroad
send huge amount of foreign
exchange and this constitutes
significant part of foreign exchange

reserve.

I1II : No — the practical knowledge
gained by Indians working in the
other country help India develop its

economy.
(A) None is strong statement

(B) All the statements I, II and IT1

are strong
(C) Only I and II are strong

(D) Only III is strong

Paper-1—A
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34.

35.

The words : stationery, paper and
ink are related. The relationship
among these can best represented
by which of the following diagrams ?

(A)

(B)

(C)

)

2OOE6

Find the missing number in the

following :
1 2 3
4 5 6
7 8 9
27 | 38 ?.

(A) 49

(B) 50

(C) 51

(D) 52

Paper-I—A
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(A) 49
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36. Count the number of triangles and ~ 36. {lA-{l vuglani 32al Bisial 214 AU B

37.

38.

squares in the following figure :

(A) 28 triangles, 3 squares
(B). 24 triangles, 5 squares
(C) 28 triangles, 5 squares
(D) 24 triangles, 3 squares
‘CENSUS’ data are :

(A) Primary data

(B) Seconc_lary data

(C) Simulated data

(D) Cross-sectional data

The data collected on various
blood groups of a population of a

city is :

(A) Qﬁantitative data
(B) Qualitative data

(C) Continuous data

(D) Descriptive data

Paper-I—A

18

37.

38.
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(A) 28 Bisiw, 3 AR
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39. The following pie diagram shows - N N
€ &P & 39. DAl wdwdni vis ulra-i uw

the amounts that a family spends
Ll UL 8 v, SUSL, BUG A

on : Food, clothing, rent and

miscellaneous expenditure and wey W qal sud. A uRs wugs

savings. If the monthly income of
wRaiz-ll 60,000 €, dl 1URks s 32l

the family is 60,000, then monthly

: ] a3l
savings are :
v,
108°
Misce-
Clothing | llaneous
72° 72°
(A) 3,000 (A) 3,000
(B) 6,000 | (B) 6,000
(C) 17,500 (C) 7,600
(D) 9,000 D 9,000
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40. The following bar diagram Shows_ 40. 1A ealden adeudvni af 2004 4L wam

the registration of CARS and total

19 ul3l Redlui Almad) 1z stz da
vehicles during the first six months '

~ . -
of the year 2004 in DELHI : 4 dle-il galacudi 2ue 9.
[J:cams w2z R
: TOTAL NUMBER OF VEHICLES T 44 Ayt vy
45 45
= =
No. of E duelle £
regis- 3 35 E MR 35 35 B3
trations 2 (ECEE =
(in '-.5 ;<'§
27 S 27 =
thousands) 25 = 25 =
=3 =
2 22 , z 91 22 2283 £
17 = 17 =
1 Z 1 =
= Z
Z =
Z Z
Z | =
JAN. FEB. MAR. APR. MAY JUNE . JAN. FEB. MAR. APR. MAY JUNE
What was the percentage increase A ofl o 2004 ui Hiesia~ -laelxi

in registration of CARS from MAY Yo, 24 qaiql wil ?

to JUNE 2004 ?

- (A) 64.2%

(A) 64.2%
(B) 64.5%

(B) 64.5%
() 64.7% () 64.7%
(D) 64.9% ' (D) 64.9%
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.41. The number of male and female
students registered for their Ph.D.
programme in various faculties
along with their total strength in
years 2006-2015 can be ‘best’

represented by a :

(A) Simple bar diagram
(B} Multiple bar diagram
(C) Histpgram

(D) Pie diagram

42. Raw data collected on : height,

weight, BMI anf:l age can be :
(A) classified

(B) tabulated

(C) both classified and tabulated

(D) categorized

Paper-I—A
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4]1.

42.

a¥{ 2006-2015 s[Hai el %el

[aelsviml iwddl Ph.D. il 4

el 24 el %€l [Qanarvuul

“laiden Yy »ia 2l Glsazi-l wuledl

Al Wl A L srAl

Hie

(A) el deudm
(B) sglau wdoudyy
(C) 2uglrt mugsin

D) ws—we

G, aoe, BMI »iq GHR 2050+ 513l
WwRdl Anaami »udl & ad sulqa

2
(A) allga
(B) azgll

(€) wdflgd 3l Wl o

D) allsza

[P.T.O.}




43. Which of the following is the Web 43 ayuisl]l sy Aot suBmz &7
browsér ? X
_ (A) [A-sin 7
(A) Windows 7

(B) C++ d&oaxy
(B} C++ Language

' (C) e 4
(C) Google Chrome
(D) Tally (D) 3l

44. What is the full form of MOOC ?  44. MOOC 224 :

(A) Most Organised Offline Courses (A) iz wRIUSHS lisald siad
(B) Modern Online Office Courses (B) s widad gy sl

(C) Massive Open Online Courses (C) AR 2liu- vivens- sl
(D) Massive Office Order Cell D) Al 208 W Aa

45. Which number system is used to 45, sz Rl e w1 2les sal

t dat i . . -
store data and perform calculation W3 sl vl Ul ANRAUH A D7

in computers ?
(A) »lsed

(A) Oectal
B) a3l
(B) Binary
(C) Decimal (C) Slma
(D) Hexadecimal D) &s:18dHe
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46.

47.

48.

Which law protects the crimes

through Internet ?

(A) IT Law

(B) Common Law

(C) Cybef Law

(D) Natu'ral Law

ATM stands for :

(A) All Time Money

(B) Auto Teller Machine

(C) Automated Teller Machine
(D) Arithmetic Teller Machine

Personal data is often transmitted
over the internet. One method
of securing the data before

transmission is :

(A) Filtering

(B) Using encryption
(C) Using firewall

(D) Streaming

Paper—I—A
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46. 54l 5146l Srevniedt dyriell el o3 87

47.

48.

(A) IT stuel

(B) M4 S1uel

(C) SR H14El

(D) gerdl simel
2.0, ed

(A) »tia 2198 %L

(B) »liel 2ar sl

(C) »laMes 2ax will
D) »AARs a3 Halld

il duLr S2znz asl 531 usn
B 56 uglell 2R, AR scL wed

Al el sy &
(A) BealIn

(B) AU @yl
(C) sWRdid dluzald

D) ¥
[P.T.0.}




Tick the correct answer :

49,

50.

51.

Chemistry of corrosion is :

{A) Electrochemical Phénomenon

(C) Reduction

(D) Hydrothermal Reaction

Which is not correct for ‘green

chemistry’ ?
(A) Design benign chemicals
(B) Design for non-degradation

(C) Design to reduce the use and

generation of hazardous

substances

(D) Design for strategic pathway to

build a sustainable future

The work of Hargobind Khorana in
which he got Nobel Prize was :

(A) Penicillin
(B} Sulpha drug
(C) Cracking of genetic code

(D) Pairing of nucleotide base

Paper-1—A
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AL Ao wig)

49.

50.

51.

g als udu A

(A) [Qgaals uBa

(B) olRis s wEFal

(C) ~urilsear bk
(D) walbs{ly ulEu

Sl }m{l’. He g weg el
(A) R qaR ﬁtwrﬂ 3u3vy o]
(B) + ueardl ulBuid wuuloa-
(C) Awnsts welal-it Gudlosl w21si

(D) Al gl s34 % 30uRis 243

Ra cilawy 2wy

S0UAE vl dlasd Fe
st lde WSy Ao

(A) U=flell

(B) uesl g

(C) ¥Bs sisy Rt

D) ~ysalads dudl ¥l otradl



52. Amount of organic poilutants found

53.

54,

in surface water is measured by :

(A) COD (Chemical Oxygen

Demand)
(B) Energy efficient batteries
(C) 3-D printed structure

(D)

Gas sensitive semiconductor

technology
Bubblegum contains :
(A) Natural Rubber
(B) Synthetic Rubber

(C) Synthetic Styrenebutadiene
Rubber

(D) Styrene Maleic Anhydride

To raise global awareness, which
day every year we celebrate

Environment Day ?
(A) 10th May

(B) 13th March
(C) 5th June

(D) 17th January
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52. uwd Guasdl weldi seilfs weild

53.

54.

WHIGL WYL M2

A) A28 (Busa visdlo Surs)

(B) Gofaudl di2¥)

(0) 3-8l wilg sara

D) Au A-=(Ret mdalss sl

GO AHAY & ¢

(A) glas @R

(B) dlere iR

(C) dBare i Y8t WR
(D) @l A5 ssuglss

ABas viaolig M e 204 sy Badl

Qeq yulaw [Bay Grdla ¢l :
(A) 10th May

(B) 13th March

(C) 5th June

(D} 17th January
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0o.

56.

57.

What is the main objective of NAAC

in India ?

(A) Establishing Universities
(B) Evaluating Universities
(C) Accredidating Universities
(D)) Funding Universities
“Gujarat Vidyapith”, Ahmdabad
is a :

(A) Central University

(B) State University

(C) Private University

(D) Deemed University

Which of the following is a popular
programme for promoting science
and technology supported by

Department of Science and

Technology (DST), Govt. of India ?
(A) INSPIRE

(B) SCOPE

(C) PMOST

(D) SSA
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85.

56.

b7.

attaddl NAAC i gﬁq dq 54l 87
(A) yRafa-dl vy

(B) y[aalidly Hedisw

(C) yRalidly Asla s3g

(D) y[ada w@ily Hee s3dl
Ao c [Aendls, vuetale A
(A) A=a yRaRHA

(B) w2 yMaRid

(C) w2 yRaiHa

(D) sl yRalHa

[astin ud SsAidimdl @sw w2
DAl s sidsuad e As124L

[Qa 2s+ticlor [Aeol gl Aest2

i Q-

(A) INSPIRE
(B) SCOPE
(C) PMOST

(D) SSA



58.

59.

60.

Which of the following is a Central

University ?

(A) Gujarat University

(B) Mohanlal Sukhadia University
(C) Banaras Hindu University
(D) Mumbai University

Which of the following i1s an

Exclusive Women University ?
(A) University of Delhi

(B) SNDT University

(C) Gujarat Vidyapeeth

(D) Visva-Bharati Uniyfersity

For which fie_ld the Vikram

Sarabhai Awards are given ?
(A) Biological Research

(B) Agricultural Research
(C) Space Research

(D) Mathematical Research
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58. (Al 58 3wu yMaldl o7

59.

60.

(A) Aerud yRaRid

(B) *erena yuuldu yRaRHd

(C) a1y [R-g yRaRd

D) Hus yRaRHd

QAuniell 585 vl sue] yHaRiél 87
(A) Redl ylRaRid

(B) SNDT yfa&id

(C) yxd [aeudls

(D) Rzasidl yRaRiA

sy Aol RsMRIeus Adis sy

w19 87

(A) alaaq AW
(B) s -

(C) ddsifEy qaulan

D) sulids Awid
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ROUGH WORK
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